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year, the city allocated $150 million to cover the increase in wages

that it expected to approve as a result of negotiations with the

municipal labor unions.(A) increase in wages that it expected to

approve as a result of negotiations(B) increased wages it expected to

approve from negotiations(C) increasing wages expected to be

approved as a result of negotiating(D) negotiated increases in wages

it expected to approve(E) increases expected to be approved in

wages from negotiating217. Although some officials noted that using

machines for farming in China costs more than traditional hand

cultivation, the mechanization of farming in the village of Long Bow

doubled the corn yield while the previous year’s costs were cut in

half.(A) mechanization of farming in the village of Long Bow

doubled the corn yield while the previous year’s costs were cut in

half(B) mechanization of farming in the village of Long Bow doubled

the corn yield while cutting costs to half those of the previous

year(C) mechanization of farming in the village of Long Bow

doubled the corn yield as cost were cut to half of the previous year

’s(D) farming mechanization in the village of Long Bow doubled

the corn yield as it cut in half the previous year’s costs(E) farming

mechanization in the village of Long Bow doubled the corn yield

while costs were cut to half that of the previous year218. The

domesticated camel, which some scholars date around the twelfth



century B.C., was the key to the development of the spice trade in the

ancient world.(A) The domesticated camel, which some scholars

date(B) The domesticated camel, which some scholars having

thought to occur(C) Domesticating the camel, dated by some

scholars at(D) The domestication of the camel, thought by some

scholars to have occurred(E) The camel’s domestication, dated by

some scholars to have been219. By showing that South Africa does

not have a free market and is in fact a kind of collectivist welfare state

for Whites only, Sowell argues that American conservatives have no

valid ideological grounds to be in sympathy with the Pretoria

regime.(A) to be in sympathy with(B) to sympathize with(C) for

sympathizing with(D) that they should sympathize with(E) that they

should have sympathy for220. Because Halley’s comet changes

orbit slightly during the seventy-six-year interval between passing

close to Earth, it may veer onto a collision course with a planet

sometime in the distant future.(A) between passing(B) of passing(C)

between its passes(D) of its passes(E) as it passes221. The efforts of

the bipartisan committee were marked as much by frustration as it

was by success.(A) as it was by(B) and also by(C) as by(D) and

equally by(E) as there was222. The concept of the grand jury dates

from the twelfth century, when Henry II of England ordered panels

of common citizens should prepare lists of who were their

communities’ suspected criminals.(A) should prepare lists of who

were their communities’ suspected criminals(B) would do the

preparation of lists of their communities’ suspected criminals(C)

preparing lists of suspected criminals in their communities(D) the



preparing of a list of suspected criminals in their communities(E) to

prepare lists of suspected criminals in their communities223.

Chinese, the most ancient of living writing systems, consists of tens of

thousands of ideographic characters, each character a miniature

calligraphic composition inside its own square frame.(A) each

character a miniature calligraphic composition inside its(B) all the

characters a miniature calligraphic composition inside their(C) all

the characters a miniature calligraphic composition inside its(D)

every character a miniature calligraphic composition inside their(E)

each character a miniature calligraphic composition inside their224.

In developing new facilities for the incineration of solid wastes, we

must avoid the danger of shifting environmental problems from

landfills polluting the water to polluting the air with incinerators.(A)

landfills polluting the water to polluting the air with incinerators(B)

landfills polluting the water to the air being polluted with

incinerators(C) the pollution of water by landfills to the pollution of

air by incinerators(D) pollution of the water by landfills to

incinerators that pollute the air(E) water that is polluted by landfills

to incinerators that pollute the air225. During Roosevelt’s years in

office, Black Americans began voting for Democrats rather than

Republicans in national elections, but Black support for Democrats

at the state and local levels developed only after when civil rights

legislation was supported by Harry Truman.(A) developed only after

when civil rights legislation was supported by Harry Truman(B)

developed only after when Harry Truman supported civil rights

legislation(C) developed only after Harry Truman’s support of



civil rights legislation(D) develops only at the time after the

supporting of civil rights legislation by Harry Truman(E) developed

only after there being Harry Truman’s support of civil rights

legislation226. The winds that howl across the Great Plains not only

blow away valuable topsoil, thereby reducing the potential crop yield

of a tract of land, and also damage or destroy young plants.(A) and

also damage or destroy(B) as well as damaging or destroying(C) but

they also cause damage or destroy(D) but also damage or destroy(E)

but also causing damage or destroying227. More than thirty years

ago Dr. Barbara Mc-Clintock, the Nobel Prize winner, reported that

genes can “jump,” as pearls moving mysteriously from one

necklace to another.(A) as pearls moving mysteriously from one

necklace to another(B) like pearls moving mysteriously from one

necklace to another(C) as pearls do that move mysteriously from

one necklace to others(D) like pearls do that move mysteriously

from one necklace to others(E) as do pearls that move mysteriously

from one necklace to some other one228. In theory, international

civil servants at the United Nations are prohibited from continuing

to draw salaries from their own governments. in practice, however,

some governments merely substitute living allowances for their

employees’ paychecks, assigned by them to the United

Nations.(A) for their employees’ paychecks, assigned by them(B)

for the paychecks of their employees who have been assigned(C) for

the paychecks of their employees, having been assigned(D) in place

of their employees’ paychecks, for those of them assigned(E) in

place of the paychecks of their employees to have been assigned by



them229. New hardy varieties of rice show promise of producing

high yields without the costly requirements of irrigation and

application of commercial fertilizer by earlier high-yielding

varieties.(A) requirements of irrigation and application of

commercial fertilizer by earlier high-yielding varieties(B)

requirements by earlier high-yielding varieties of application of

commercial fertilizer and irrigation(C) requirements for application

of commercial fertilizer and irrigation of earlier high-yielding

varieties(D) application of commercial fertilizer and irrigation that

was required by earlier high-yielding varieties(E) irrigation and

application of commercial fertilizer that were required by earlier

high-yielding varieties230. In an effort to reduce their inventories,

Italian vintners have cut prices. their wines have been priced to sell,

and they are.(A) have been priced to sell, and they are(B) are priced

to sell, and they have(C) are priced to sell, and they do(D) are being

priced to sell, and have(E) had been priced to sell, and they have
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